
SAP ABAP table /DSD/ST_STATUS {Current tour status}

_DSD_ST_STATUS

CLIENT [CLNT (3)]

TOURID [CHAR (12)]

STATUS_ID [NUMC (8)]

SHIPMENT [CHAR (10)]

VLID [CHAR (10)]

SHTYP [CHAR (4)]

TPLST [CHAR (4)]

VPTYP [CHAR (3)]

BSO [CHAR (4)]

SLTYP [CHAR (2)]

_DSD_SL_TBSO

CLIENT [CLNT (3)]

BSO [CHAR (4)]

 /DSD/ST_STATUS-BSO = /DSD/SL_TBSO-BSO 

0..N

1

_DSD_SL_TSLTYP

CLIENT [CLNT (3)]

SL_TYP [CHAR (2)]

 /DSD/ST_STATUS-SLTYP = /DSD/SL_TSLTYP-SL_TYP 
0..N

1

_DSD_ST_CSTATUS

STATUS_ID [NUMC (8)]
 /DSD/ST_STATUS-STATUS_ID = /DSD/ST_CSTATUS-STATUS_ID 

0..N

1

_DSD_VC_VLH

MANDT [CLNT (3)]

VLID [CHAR (10)]
 /DSD/ST_STATUS-VLID = /DSD/VC_VLH-VLID 0..N

1
_DSD_VC_VPTYPE

MANDT [CLNT (3)]

VPTYP [CHAR (3)]

 /DSD/ST_STATUS-VPTYP = /DSD/VC_VPTYPE-VPTYP 
0..N1

T000

MANDT [CLNT (3)]

 /DSD/ST_STATUS-CLIENT = T000-MANDT 

0..N

1

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 /DSD/ST_STATUS-TPLST = TTDS-TPLST 

0..N

1

TVTK

MANDT [CLNT (3)]

SHTYP [CHAR (4)]

 /DSD/ST_STATUS-SHTYP = TVTK-SHTYP 

0..N

0..N

VTTK

MANDT [CLNT (3)]

TKNUM [CHAR (10)]

 /DSD/ST_STATUS-SHIPMENT = VTTK-TKNUM 

0..N

1


